
第1回

第2回

第3回

第4回

第5回

第6回

第7回

第8回

第9回

第10回

第11回

第12回

第13回

第14回

第15回



6 24

55

25 5

1. A B S ( )P A 3
1 ( )'P A B 5

4, ( | ) ( )'P B A P B

 A B

5
1  

5
3  

15
2  

15
7  

15
11

2. 
  

  

3. logab a b 1 2 3 4 5 6 7 8 9
logab

9
1  

9
2  

4
1  

9
4  

16
3

4. 1
a
56

a
8 10 12 14 16

1

subjectsusu cctcctctttttctccttt
For senior high school
FFor 

lhoolhoooolol

624



6 25

5. 7 7
7 7

 7 777 77 861 777777

8  9  10  11  12

30 5

6. 1 2 3 4 5 6 7 8 9 10
, , , ,A 2 4 6 8 10" , , , ,B 7 8 9 10" , 

 6
 6
 6
 7
 7

7. 

10 7
1

10

10 7
1

20

49
1

7
2

49
18

49
36

3
2



626

8. J Q K J Q K J Q K

A B
( ) ( )P A P B  ( )P A 14

9  ( )P A B 14
3+

( | )P B A 3
1  ( | )P A B 3

2

9. 15
70

20

11

 

5
3

15
1

10. 100
4 2 1 3

1
0.6

p 0.4
0.3

0.3
0.1
0.4

0.8 0.3 p 0.6

1



6 27

11. 1000 9999
2012 2210

 210
8521  

375
1  

9553  
750
1  

7610  
500
1  

 
300
7  

45 5

A. A B C D E F 6 10 15 A

B A B  

B. 15 1 15
3 0 1 2

 

  

C. 

40  

 

D. 4%
95%

90%

 



628

E. 
A B 1 10 3

 

F. A  
3
2 B

  
5
3

 A B A B   

 

G. 3 2 1 3 3
4 2

 

H. 5 2
0.4 5

 

 I. 5 1 2 3 4 5

1 2 5 3 5 2 8

 

 p.13



136

2! 12C2
4
#  

 
 1 3 3 
 2 2 4 
 12 ( ) 843 4#= + =  

p.24

A. 1 3 B. 5 2 1 C. 2 3
D. 1 2 2 9 E. 1 7 2 4
F. 4 9 G. 4 1 1 0 8
H. 2 5 1 5 2 I. 7 6 0

 ( ) ( )'P B A P B

( )
( ) ( )'

'
P A

P B A P B+

 ( ) ( ) ( )' 'P A B P A P B+

A' B
A B

( ) ( ) ( )P A B P A P B+

( ) ( ) ( ) ( )' ' 'P A B P A P B P A B, += + −

( ) ( )P B P B5
4

3
2

3
2= + −

( )P B 5
2

A B
( ) ( ) ( ) ( )P A B P A P B P A B

3
1

5
2

3
1

5
2

15
9

5
3

#

, += + −

= + − = = 

 ( )2
1 4 ( )C 2

1
1
4 4$

 ( )C 2
1

2
4 4 ( ) ( )C C 2

1
3
4

4
4 4

3 1 4 ( ) ( )C C 2
1

3
4

4
4 4

2 2

 logab 1a !

(a   b ) 8 8 64
logab

( a  b ) ( 2  1 )  ( 3  1 )   ( 9  1 )   ( 2  4 )  
( 2  8 )  ( 3  9 )   ( 4  8 ) (4  2 ) ( 8  2 ) 
 ( 9  3 ) ( 8  4 )

16

 64
16

4
1

 1 2 3 4
5 6 7 8

 ( 1 3 6 )  ( 1 3 8 )  ( 1 4 6 )  ( 1 4 7 )  
 ( 1 6 8 )  ( 2 4 5 )  ( 2 4 7 )  ( 2 5 7 )  ( 2 5 8 )  

( 3 5 8 )  ( 3 6 8 )  ( 4 5 7 ) 12

  # #

!
! !
8

5 3 12
56
12

  7 777 7 7 7 777 777 7 77 7 7+ + = + + = + +

2 3 2 1
6

 6 1 5 2 4 3 3= + = + = +
  1 1 4 1 2 3 2 2 2= + + = + + = + +
  1 1 2 2 1 1 1 3= + + + = + + +
  1 1 1 1 2 1 1 1 1 1 1= + + + + = + + + + +

11

 , , , ,A 2 4 6 8 10" , ( )P A 2
1

, , ,B 7 8 9 10" , 6 ( )P B 5
2

( ) ( ) ( )P A B P A P B10
2+

A B A'
B A B' A' B'

6 1,2,3,4,5C " ,

( )P C 2
1

,A C 2 4+ " , ( ) ( ) ( )P A C P A P C10
2+ !

 A C

 1

10

10

7
1

7
1

7
2

7
6

7
6

7
5

7
6

7
2

49
12

#

7
1

7
6

49
6

#

27
1

7
1

49
1

#

7
6

7
5

49
30

#



14 6

 9 3
J Q K 3

# # #
( ) ( )P A

C
C C C C P B14

9
3
9

1
3

2
3

1
2

1
3

 

J
Q
K

# #
( )P A B

C
C C C

7
3

3
9

2
3

2
3

3
4

+

 

( ) ( )
( )P B A P A
P A B

3
2+

   

( ) ( )
( )P A B P B
P A B

3
2+

 

 5
5 0 0 0 1 4 0 0 0 2 3 0 1 1 1 2

!
! 3 603
5

#

4 11

#!
60
2 3

     10
1

#!
60
2 2

15
1

 
0.6

0.4 0.8 0.2 0.3 0.1 p
0.3 0.6

p 0.4
.10

2 0 2

0.2 0.3=0.06

P | #

.
0.2 0.3 0.0 6 1

P | #

.
. .
0 6

0 1 0 4
15
1

 abcd
      a b c d$ $ $   H 1 7144

10 − =  
 8 5 2 1  
8521  !4 24   

9000
24

375
1  

0.8

0.30.4

0.3

0.2
0.1 p

0.6

9 5 5 3

     9553  
!
!
2
4 12   

9000
12

750
1

7 6 1 0

      7610  3 3! 18#   
9000
18

500
1  

 abcd  a b c d$ $ $

       
9000
714

1500
119

A. P(  A B |  A B  )
#

#

4!
5 4!

C 3
1

2
6

B. 1 15 3
 A 1  4  7  10  13
 B 2  5  8  11  14
 C 3  6  9  12  15
 P (  |   )

 
#

#

!
! ! !

C
C

2
2 2 2

21
5

2
7
2
3

= + + =

A B C

C. 
 

 
#

#

6 3
4 3

3
2

D.   

95%

10%

96%

4%

5%

90%

 

4% 10%
96% 95% 4% 10%

40
9160

1
229

E. A 120C3
10

 B  120C3
10

 A B A B

#120 120 ! ! !
! 102003 3 4

10= − =

 
#120 120

10200
24
17

F. A 3
2

 B 5
3

 3 2
A 2 B
A 1 1 B

 # # # #C3
2

3
2

5
2

3
2

3
1

5
3

45
20

9
4

1
2 $= + = =



157

G. 

 

3
1

3
1

3
1

2

2
2
2
2

P(  2   )

3
1

6
3

6
3

3
1

6
2

6
3

3
1

6
3

6
4

# # # # # #= + +

3
1

6
1

6
2

3
1

6
3

6
4

# # # #

108
9 6 12 2 12

108
41= + + + + =

H. P(  |  5   )

# #

#

( . ) ( . ) ( . )
( . )

C C
C

0 4 0 4 0 4
0 4

5
1
5 4

2
5 3

1
5 4

=
+ +

.0 16 2 10
2

152
25=

+ +
=

8 5 3 5 2 1 4 3 1= + = + + = + +

 
 5 3  1 5 2  2 5 1  1 4 3  3 4 1

 P ( 8 ) 45
1

4
1

5
1

4
1

3
1

60
7

# # ##= + =

p.29

A. 6 2 8 3 6 B. 1 C. 1 0
D. 0 E. 7 3 5 F. 3 4 2
G. 7 4 3 H. 9 I. 6 8 1

 
 

  

2

2

( )

x x

x x x x

x

2

4

4
1 4 2 1i

i

2 3

1 2 3 4

2 2

1

4
#v

+ =

+ + + =

= − =
=

*
/

 

 
x x
x x x x
x x x x

4

8

20

2 3

1 2 3 4

1
2

2
2

3
2

4
2

+ =

+ + + =

+ + + =
*

    
 
 x 12 x 33  2x2 2x3
 x 11 x 34 x 21 x 24

     x 11 x 12  x 33

x 34 1 1 3 3
 

 

 
 x x x x x 2< < < < <41 2 3 5 −

2x x x x x> > > > >1 2 3 4 5− − − − −  
x x x x x2> > > > >31 4 5 2− −

x
2

2 5= +

 ( )
n

x n
n

x1 1
i

i

n
i

i

n2 2

1

2

1
v n n= − = −

= =

2/ /

70
x

48
i

i 1

48

n
/

70x
48
1

i
i

2

1

48 2
v = −

=
/  

70

x

x
48

50 80 100 70

48

i
i

i
i

1

48

1

48

n =
− + − +

= =

=

=

l
/

/

( )x

x

x

48
1 50 80 100 70 70

48
1

48
1 1200 70

48
1 70 25

25

i
i

i
i

i
i

1
2

1

48 2 2 2 2 2

2

1

48 2

2

1

48 2

2

#

v

v

= − + − + −

= − −

= − −

= −

=

=

=

/

/

/

25 ( 5 )( 5 )1
2 2
v v v v= − = + −

 ( 5 )( 5 ) ( 5 )2$ v v v− − = −

51 $v v 25 <1
2 2 2
v v v= −

1v v

 5 <1#v v v−

 

 5 9
9

51
#n 5M1

( 0 )
9
1 9 01

2
#v  

4  4  4  5  5  5  6  6  6
4

9
3 5 3 6 3 52

# # #n = + + = 5M2

[ ( ) ( ) ( ) ]
9
1 3 4 5 3 5 5 3 6 5

9
6

2
2 2 2

v = − + − + − =
 


	目次
	書籍內容
	詳解

